B E BB h - % E B B R E RORERTH#:

F1L—RADFFE12FF

A/ \0—)
sx 27848 16H(K)

£13R H18EH 69 HH

22 PARIERES - xess (£ -FB )

1R ..6.5.4.1.2.3 800 m 3R ..2.3.5.4.1 800 m
S P S E i S PR = £ i
e 5 4 PR | e | m # = |8 F|2 14 ED | EAE |BHES| K & 5 | | @ m = |8 F|52 44 T | HARE | BRES| B &
EEE EEE
RS 2 | F |5 o—SXqoaq 1215 2 ¥s5 Frly—HS5r9:
1|9ozavby—  |95] 5 B E—22""7 54| s5F 50.6| 28| 414 Fry—qvi— | 93| | E e 54| B 53.2| A | 398
JUREED Mz |y A—RIT5vP— LE®RE %t 45 Fxl)—T—)LK
RREED 2 | &[5 AREFY LR 2 | g |7 v=r8—3=24—
2 [LYzoREFRY 3 3 54| BER 8| E 508 DAYy Y3 = 54| A1E 9|EHE| 414
oIy - g B s 2z 230 50.8| EHA Dx AR5 - P Y reyrreeyre— BB 51.9|mthi=
. Rz 2 | & |45 I5vssaxs—FR PV IES o | = lvs 7HRRFTEHL
3lorrTrave |93 | B —2C " 154| miH 50.8|#I1%| 404 FrA3— 5| e 77" 54| mE 52.1|MBE| 540
ST g [v7 IV720a FREKS = [ YI—O359Y
WE> 2 45 AUIRSA) ] 2 45 YHYRY4TSR
S = % ~ o —_ —_ EE 7 =
4 |R —1 54| 12 454 Sp—=— 54| # 482
i T L M e ey | 50.6|#F0a S I ke M- s 3 | 53.2|EHEE
ma®z 2 | &[5 ALATYTILE FATEN 2 | g ¥ TIVIBAE
5|74—XAXTyk  [H3 i3 54| WK 49.2| K& | 454 AE—ILT—ILE | YS = — 54| &: BXNIF| 446
T b 2 s | B[ axzoror— 9.2 A KFE Al 2 s | s )—mge—s A= 52.8| XIIF
SET] I —
6 |an51n=— yo| 2RI 220" Iyl mm | 4s9|xnzm| 412
wkor—n| || B[ spSA—n—
7
8
2R ..1.4.3.2.6 800 m 4 R .2.4.1.3.5 800 m
S P £ i S PR = S i
g = g | E| M B | g (W OF| 5o L | B RGE | BaRe| @ % g 2 |ewlf|Z| m & |2 |® F|5 1L |00 BHE|EaER| B
= EEE
FEBF 2| g [+ N—vo354 L 2 [ &[5 #2945
1 |F—kn—y #5 = 54| 5|BmEE| 398 YL OP 5| ° | & 54 |$ g _ 448
? s 2 s | 2 5 STz mH 52.5| &k o714 - A I |23 e rrp— FL& 53.5| #F05A
LIS 2 $5 Th—FAFAF—ZHY ) | SRSHERE 2 45 JLUFTE1IT4
2 [4ro—x ¥5| |1 E s 54| =i 53.9|mAARE| 442 e ORI O PE il | SRR A T 52.7|mbiz| 466
e f|*® [P v—~3520-X 853T7—I T 77V TAR
HHEAF ) ¥5 A IRSAY N THEIE 2 ¥5 FaSUL L
3|1 70=74 y5| o | B T 54|fcak|  53.9|mHA| 468 Ja—evh—2 |95 0| E 54| /I 53.5|&E%| 470
INBSRRIA i ¥ ANZINFE Ja—T7— L 4t #5 1Ja—/—=F)L
TR 2 | g [+= 9595548 BABAE 2 | g [ 7720z
4 ([Ha127— 3 = 54| B; SkNF| 486 HyoJq40—F Z = 54 | 4| E=m| 478
7 S 7\ 4| £ 5 wFprernoy AiE 52.5|KINF FEH e ¥ Y ey, Al 53.4| /"8
RARHKX 2 | &[> +hv<ozr4 i 2 | g [¥° 7RAY4—5
5|2y y/—: 43| |2 54| HE FIEES H FE ER Y vHE—0— S = 54 |tk 4 9| k| 418
T mous| || ® [ Amama—=og] Y| ® # AR e M T L i T s
\ B 2 | |+ 4o54U%:
6 [4#hx* #35 ° | ——222"2 54| ®F 54.8| E28| 446
)l gh— Hlx|ps Y953701—2
7
8
B4 A L 28E 57.0% XBE. FESS WIS
—ikE H‘HESE 4005 1.05.0 4005 LLT 1.06.0 2005 LT 1.07.0 80K LLT 1.08.0 RHEE 1.09.0
3MmEHE H‘HEES 200F#E 1.06.0 2005 LLF 1.07.0 B 1.08.0 KHEE 1.09.0




B E BB h - % E B B R E RORERTH#:
F1L—RADFFE12FF

A/ \0—)
sx 27848 16H(K)

£13R HAIKIEXH 69 58
sc» MRBES - xegss (2 -FB )

5R .1.83.4.2.5.6 800 m 7R ..1.4.2.5.3 800 m
el E | 2 - i Pl =] £
& B sElgls| m # |G |® F| 5o L |DH0| BHE | E6Ee| B B B & |eslf|E] m # |g|® F|s L |08 BHE|EEES| & E
EEE i
aorsyose |wo| 2| E[Z272YE7 Lol ee | 50| mame| a6s gormurie |os| 2| B[ 2T | s | 517 meg| 400
P 2 : =4 i Ry R— L b _ =
HRRHI KTV T7—L | % e e ThTS o ~ SONSEIN i ' -1 PR Sy = v
AHOF 2 45 AY)—rE—0O— REE— 2 ¥5 FUATAIVA—
2|rokvon—n—y5| | B2 ———1sa| NI | 51.1|F#8| 524 JEC VIR R b Bl o Sl 54| K% |  52.8|EE#| 450
HIAREYR s ¥3 ETVh/AN—/N— KIS 4t ¥5 i /T)—
IR o |25 zmarhLUR RRZE 2 ¥5 ALATYTILE
3|lToL—IL/T—IL | B B —— " 54| s 50.4| BERRIE| 428 77747 ¥ § — : fT 54| 3 53.6| &AM | 468
KI5 =z 772240 e T i ¥5 ZATUHA—IL
. 5 2 | &[5 vogAImaor .. EEm4os 2 | & |95 Rb—3VHHR—L
4|5)—r=<ay ¥ B — J - 54| ik 509|AA&%| 408 E—E—VR—=2 (U3 B — ~ . 54| RRED 52.0| ##F054| 450
Y IAFHIS x| 7O7V54 IREHE fl=|¥> JrL/—T7
s|FoTroL R o] 2| B2 IAI0T N e | 513 el azs w7 |ys| 2| B2 T | ew | 35| mse| 462
v ~ A 7 EFI: ES 95 INILE—AUR =] . T 7 7 - 7 CI:I_’, e o "j"/j_-“—@\y:)‘- =2 . A=
6 |paarmsg || 2B 2O 54| #mE | 53.1|#&mE%| 430
(| = 1|s o
i EL 44 1 7 #| % [+ 74n=ws ’ PR
7
8
6 R .4.6.5.3.1.2 800 m 8R .6.1.5.3.2.4 800 m
S PR = £ i RE L= | = £ i
& B 28| | & o s |8 F| 2 4 L | B4 | BUHE|BEEE| # B 5 28| | & o s |8 F| 2 4 L |55 | BHE|BEES| & B
EEE i
MARIER 2 | g |+ TIRRTOAL FIS— 2 | g |+ TIvIEFL—F
1| T4—Tv5— A = - - 54| B 2|B{EE| 502 ' Joh—)— |93 = 54 | A KNEF| 404
7 BIEIT_L ’ #|® | zIvey - 222" )27 ﬁﬁJJII%EIJ 7 #| %[5 Fa—Fak—b S1.4/ KNz
KARIE 2| g+ A m— 1 H-15 BA 2 = |43 FI)—H590
2 (g7 oL Y5 -y 54| £; 6|HBEE| 480 y—JLrE— > 54 £~ 6| & 422
EECC NI L M - e e 22 52.6| FE& FI—ILVE= 1951 E s o feak|  51.6|EHEA
FEBH 2 | g |+ 747 R — 2 | @ [¥5 PILARRUSARA
3|Fo7— Y3 = — 54| IR 1.9|RE&E| 466 TIoERSvF— U3 - - 54| & S|1=FHM| 434
goserns| | 4| B[ T LEe—3 219 = TR | || E [ ~rE oo & S1.5| =%
X o Mmagz 2 ¥5 AL 39R—5— KARFE 2 ¥5 ILUFFEITA
4|F—RA—5— (95| |E—"" Z 54| =5 51.4|#AARE| 440 RILG—IL 5| | B " i sa| w3 53.2| E#8| 458
TEskss | % |vs Ty FRBALS H= [ 3922747
5|AYJz)LT T ys| 2| B[220 1o g 51.5|HFZE| 432 2= F'jgﬂ%{ffg 45| 2 § = /R 54| B3 51.4| 1z | 408
I = . pES IN—EZ=—})— i3 55) .
7 PRI A |a| B [ RoFan—n v TS M £ [#5 JL—FY—L e
. Lo sl 2 e |95 PRRAYTUIR . @7LREUb L2 | & |95 o=RA—I=R4—
6 [F)—LF—074 | H5 = ——— 54| M 51.4|B#EIE| 450 TRE— ¥ B 54| WFHF 51.1|/MNBE| 450
=85 fo| =2 FU—LFY 2 —X O3 29 2N KA
7
8
HES AL 2@E 51.08 KRBT LEBS NS
—ikE H‘HESE 4005 1.05.0 4005 LLT 1.06.0 2005 LT 1.07.0 80K LLT 1.08.0 RHEE 1.09.0
3MmEHE H‘HEES 200F#E 1.06.0 2005 LLF 1.07.0 B 1.08.0 KHEE 1.09.0




B E BB h - % E B B R E RORERTH#:

F1L—RADFFE12FF

A/ \0—)
sx 27848 16H(K)

£13R HAIKIEXH 69 58
sc» MRBES - xegss (2 -FB )

9R ..3.5.4.1.2 800 m 11 R ..1.3.5.2.6.4 1,000 m
S P S S i S PR = S .
& B sElgls| m # |G |® F| 5o L |DH0| BHE | E6Ee| B B & B & |88 f|Z| m & |g|® F|s oL |6H0 BHE|BEES| B B
L L
SEAR| | 2| g |95 FOATr T4 . L L BEEE 4 m |45 FoIRTA—b
1|=%—4 Y3 = 54 |EAR 51.8|=#&7| 406 1|9 93070707 (U5 o — 56| Al 1.04.7| *k)il48| 526 250
RILVEVRTF— L 4 45 NJLEVMROZAH N R 4 45 HHSTUS
PR D 2| /|5 YN—Fr—L . HRE 3 45 T/ F A—H—
2 |7rESL v B — ~ —1 54| B&R 53.1|EHA| 484 2 [Tz TFER ¥ % - f - 54| 2= 1.05.9| ##18L| 514 0
AR 4 £ |7 —FzL—Pa (EE IS 4 45 JIAT)T
HeED 2 | g [v5 ankzony o R A 4 & s 7LFNRSUT
3 |van—y $35|°|B 54| #3 | 50.7|BHE| 394 3[Ho5750—=2 |43 | & 56| =M | 1.04.7|/1Ef#| 510 0
B 15 #| B |vs RA—FH1s n & 777 N 7 #f | = s HU73—1L3—
BHAE 2 | g |#7 =V FLSvTa RS 3= [ vo35€72
4 (REYIYRILT Y3 - 54| A T KNE| 452 4 [€HRT YR > 56| BER 08.1|=15al| 402 0
Y ’72:%;%9& || = B 2 2o 50.7| XKINF IRTY ;Eaawz Y5 4| E [ 595972 L %= 108.1| =Ea
AR A 2| gl 7vi5—L PSS 3| g [+ avFaavk
5(03F%2 045 L 3 = — 54| BB J|RE| 426 5 [{R—1)—3vial 3 = — 56| A5 05.1|/MEHE| 516 0
e S s 7 4| = 5 5550507 =) 90.7| #AXK[E Jm/mx/svyp > Y ) ey —ry— =i 1.05.1 i
Lo BB 4| @ [y ACARAY— o
6 6 [L—>ATDa)7 | B3 N 54| R 1.06.3|1EAH| 426 0
4 tt 45 FrvRLL—Y
7 7
8 8
10R .3.2.5.4 800 m 12 R . 3.4.1.2.5 1,000 m
S P £ i S PR = £ i
E B es| P | & o s |8 F| 2 4 L | B4 | BUHE|BEES| # B & B 21| 5| & mo s |8 F| 2 4 L |58 | BHE|BEES| & B
i R
. HEZES 2 ¥5 FuAq0— JRARE— 5 45 THAFLF:
1|[=UFIUA 5 |2 s 54| it =5 wamE| | 1|vmassoevr (93| B ——— 56| #iE | 1.034|#%| 556 | 680
BEES 3 ¥5 ITIT4—F R BAKIS ad ¥5 LU IYk
ke 2 ¥5 YUGATIAUR ,_JRRR 3 ¥5 RA—rya—X
2|aorvalr 93| | B "5 51.8|%)15| 380 2 |FFVILSTUR (95| | E T 56 [1k2AK| 1.03.4|/1EfE| 488 432
=iEs %t 45 RA—kST0 HETF— L 4t 45 SRKR—FIV
BEBE | 2| = [vs HU5EIR o N WIvX=I4=IF| | 4| g5 |[#> DixieUnion N
B|RDAHILE—AUL | Y5 o — 54| {Fik 51.2|E$ZE| 508 3|TT7RTvY Y3 = —— 56| ARER 1.02.7|B#E| 528 330
=R e jas v2 Y957z)—Fzx PinOakStud, LLC g %7 WhispertoMe
LEH— 2 | & |vs =z/sqx2—)L EILC. LAR 4 45 IUEpx
alrore7E—L |93 B {5a4| K% 52.6| EAH| 510 4|osEy ys| | B 56| 3 | 1.03.1|E®E| 488 250
EAR— | = v FUSHLTH—+ B~ 4t ¥5 EUTIY
BFHREA 2 45 Fl)—H5rH: RESA 4 =3 45 IINYRAHT
5|Fzu—2ht  |95| . | BT Isa|rak| 519|mHER| 452 5 |22 y5—L 45| |Bl—————"i54| B# | 104.9|4m%| 438 | 250
MEHIE #| E [v5 ToELTI—R FoL v 4B = |7 /—AF—0
6 6
7 7
8 8
SRS AL  2@F 5109 KBE. EEBD BN
—feE H‘HEES 4005E 1.05.0 4005 LLF 1.06.0 2006 L 1.07.0 80X LT 1.08.0 RHFERE 1.09.0
SRmEHE HBHESEL 20058 1.06.0 2005 LLF 1.07.0 B 1.08.0 KHER 1.09.0




B E BB h - % E B B R E RORERTH#:

F1L—RADFFE12FF

A/ \0—)
sx 27848 16H(K)

£13R H18EH 69 HH

. ecx MRIEERE - xegss (B -FB )

13 R .2.1.4.3.5 1,000 m
S P S S i S PR = S .
& 3 %Eri% B | & m  #% = |8 F| 51 L F%EN | BAE |BHES| B & & 3 %EF% B | = m # = |8 F| 514 FIKET | EARE | BHES| § &
) 6 | & [+5 HL5A/—F
1AL 3 B 56| # 03.2|EILF| 522 11,838 1
) sl P\ | B oo oo 58| B3| 1032 2w
EAATE 6 45 A= XLk
. _ = e
29 979408)— | & 56 [{E & 03.2| =#%7]| 508 5,850 2
> s v s | E 5 55550007 EL2Kl 1.03.2| 55
. R 4 ¥5 AR I4—Y
3|=Z/ToTNSR BT i Z - ! 56 |H L& 1.034(ZWLF| 562 4210 3
FRIEAKS A 45 TALRRS—>
9-# HA—A| 4 % H5 /\°,r|:|
4 |ZRY 5— 5 e 56| A .03.3| k)1 524 2,122 4
9°—b—-°))r»/f>-3_7?AﬁKE%$i 7 |z v FV—LRF—L 1.03.3 it
IMHEE 6 45 T RRAFFY
s - N - E = =
5| vA=——42%F VA 56| &F .03. A 518 2,070 5
S %;i% > S meeyryyerprr Z5 1.03.5|WLAaE
6 6
7 7
8 8
S P £ i S PR = £ i
I R L 0 L 3 L il b L L ® R & REG|G W 8|5 B F| 5o L BN BRE BERE) 6 B
1 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
HES AL 2@ 51.08 XBE, TESS BN
— R HBHEES 40058 1.05.0 4005 L F 1.06.0 2006 LLF 1.07.0 80K5LLF 1.08.0 FHEE 1.09.0
SREHE THES 2005 1.06.0 2006 F 1.07.0 FEEA 1.08.0 FHEEER 1.09.0




